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A ERECK EHPPE & 150 iR N M E By @ B 3EAs ) B 3EAs ©) B 3EAs
EiE - ER DIP-GX ¢ 250 DIP-GX ¢ 250 ik Lid
tHY (m) H=1. 80m | H=1. 80m | H=1. 80m
BiEAs ze L=| BiEAs mE L=| BifiAs EE L= HE L= HE L= HE L= les L= lzg L=
TEEE (m) 25.00 ImZY 8.00 [1m=Y | 13.00 [Im=zY 4.00 [Im&yYy ImZY ImZY ImZ%Y im%y
As EHEERRUIBT T t=15cm 50.00] m 2.00 16.00| 2.00 26.00[ 2.00 8.00
As  SHEERRUIET T 15<t=30cm m
Co &M¥ERRUIETT t=15cm m
Co &M¥ERRUIETT 15<t=30cm m
As  SHEERRERIE L T t=15cm 19.70[ m2 0.90 7.20[ 0.90 11.70] 0.20 0.80
As  SHEERRERIE L T 15<t=40cm m2
Co &M%EhRERIEL T t=15cm m?2
Co &M%EhRERIEL T 15<t=40cm m2
AR I T eE+ 41.35| m3 1.91 15.28] 1.91 24.83] 0.31 1.24
HEHIER T Bt 35.03] m3 1.63 13.04| 1.63 21.19[ 0.20 0.80
HEHIER T AR m3
HEHIER T fidael m3
ADEEIT e+ m3
ANERT Bt m3
ANERT fidael m3
FEERET (. 4nkiH) M-30 t=10cm m2
FEERET (. 4nkiH) M-30 t=11cm m2
FEERET (. 4nkiH) M-30 t=12cm 19.70] m2 0.90 7.20] 0.90 11.70] 0.20 0.80
FERET (1. 4ml E3. 03M-30 t=12cm m2
TREREEIT . 4nkiH) RC-40 t=10cm m2
TEREEIT . 4nkiH) RC-40 t=15cm 19.70] m2 0.90 7.20] 0.90 11.70] 0.20 0.80
TEREEIT 0. 4nkiH) RC-40 t=20cm m2
TREERET (1.4mLlE3. 03RC-40 t=15cm m2
|E§ 82 T (1.4mk#) |RC-40 t=15cm m2
BB O T (1. 4mEkiE) M-30 t=10cm m2
REL (FEE - BB An[EEFRIEA t=3cm 19.70] m2 0.90 7.20] 0.90 11.70{ 0.20 0.80
REBI (FEE - HEER1. 4m[F A FEHIEEA t=4cm m?2
RET CHELR. AnULT) [BAEHRIEAt=3cm m?2
R ALIET T8 41.35| m3 1.91 15.28[ 1.91 24.83] 0.31 1.24
FERWIET As 1.09] m3 0.05 0.40] 0.05 0.65| 0.01 0.04
EFENET Co m3
EERELSE As 2.39] t 0.11 0.88[ 0.11 1.43] 0.02 0.08
EBEL S & Co t
As  SHEERRYIBET t=15cm m
As  EHEIRTIETT 156<t=30cm m
As  SHEERRERIEL T t=<15cm m2
As SHMERRERIEL T 15<t=40cm m2
5 40 7 1) t=1cm m3
ThEE4 #HEAMM-30 [t=1cm m3
REL (HiE - SEIR. dnfmemueasis [t=4cm m?2
REL (HiE - SEIR. dnfmemueasis [t=4cm m?2
RET (HiE - HEE. 4n|Co t=10cm m?2
L MET 8 Bt m3
R ALIET As L m3
ERENIEE As t




EHIE R

BEES= DA% ¢250mm (L))
& @ = 272.0x272.0x 1 /4= 0.058 m2 =% ¢ 250mm_(JL{a
1m3yY
B #EKL=8. Om
&t g = L | % =
SHELIE T (AS T=10cm=ET)
1.00x 2% = m 2.0
SHEEEY ZhH L (AS T=4cm)
1.00 % 0. 90 = m2 0.90 900
HEMREI T (BEL) iR As t=0. 05cm &% As t=0.03cm
0.90x2.12 - m3 | 1.91 ﬁ/
BRLI (EBL. &2/ SHED) g@ﬁu |
0.90 x 1. 87-0. 058 = m3 1.63 ] b
ERERET (M-30 T=12cm ) : 30
1.00% 0. 90 = m2 0.90 L W30 120
TR®ET  (Re-40 T=15cm ) | Re40 150
1.00x 0. 90 = m2 0.90 1800 i
BWEREIBT  (As T=3cm ) 2172 i
1,00 0. 90 = m2 | 0.90 : 1872
BEIRST  (1B) WHIEH . EBT
0.90x2.12 = m3 1.91 T ‘
OB T (ASH" 3) 212, ?
0.90x0.05 = m3 | 0.045 : E—
®WHS T (ASH" 3) 100
0. 045 x 2. 35t/m3 = t 0.106 DCIP ¢ 250
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BEES= Q@AHKO250m (RXES)
& @ = 272.0x272.0x 1 /4= 0.058 m2 =% 6 250mm (&= A
Tm3Yy
B ERL=13. Om
&t g = L | % =
SHELIE T (AS T=10cm=ET)
1.00x 2% = m 2.0
SHEEEY ZhH L (AS T=4cm)
1.00 % 0. 90 = m2 0.90 900
HEMREI T (BEL) iR As t=0. 05cm &% As t=0.03cm
0.90x2.12 - m3 | 1.91 ﬁ/
BRLT (EBE. 42/ SHED) NI
0.90 x 1. 87-0. 058 = m3 1.63 ] b
ERERET (M-30 T=12cm ) : 30
1.00x 0. 90 = m2 | 0.90 L W30 120
TREHET  (Re-40 T=15cm ) | Re40 150
1.00x 0. 90 = m2 0.90 1800 i
BWEREIBT  (As T=3cm ) 2172 i
1,00 0. 90 = m2 | 0.90 : 1872
BIMAST  (1B) WHIEH . EBT
0.90x2.12 = m3 1.91 T ‘
BT (ASH" 3) S A ?
0.90x0.05 = m3 | 0.045 : —"
®WHS T (ASH" 3) 100
0.045 % 2. 35t/m3 = t 0.106 DCIP ¢ 250




EHIEEm EHEE
HEES= QAU FELES
& @ = 272.0x272.0x t 4= 0.058 m2 S KE BED
1m3yY
B ERL=2. Om
&t g = L | % =
SHELIE T (AS T=10cm=ET)
1.00x 2% = m 2.0
SHEEEY ZhH L (AS T=4cm)
1.00 x 0. 20 = m2 0.20 200
HEMREI T (BEL) BiR As t=0. 04cm &% As t=0.03cm
0.20x1.53 - m3 | 031 ﬁ/
BRLI (EBL. &2/ SHED) g@ﬁu |
0.20 x 1. 27-0. 058 = m3 0.20 ]
ERERET (M-30 T=12cm ) : 30
1.00% 0. 20 = m2 0. 20 L W30 120
TEBRET (Rc-40 T=15cm ) Rc-40 150
1.00x0. 20 = m2 0.20 1200 i
BWEREIBT  (As T=3cm ) 1572 i
1,00 x 0. 20 = m2 | 0.20 : 1272
BEIRST  (1B) WHIEH . EBT
0.20x1.53 = m3 0. 31 T ‘
OB T (ASH" 3) 212, ?
0.20x0. 04 = m3 | 0.008 .
®WHS T (ASH" 3) 100
0.008 x 2. 35t/m3 = t 0.019 DCIP ¢ 250




